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ol
FoNH 29 CEERED
SA BB (B) - MRAY - BHES 0l &+ o HI RS 2
3| 2.,691,662,374 2,514,835, 449 176,826,925
= 33,715,526
s 11,329,216
J| 1,800,000
Al 2,644,817,632
18,589, 309 8,381,930 10,207,379
NEF=RANM 28 18,550,547 8,343,622 10,206,925
AN 28 82 4,184,636 4,166,714 17,922
ZHM 28 ANEES 3,350,880 3,350,880 0
2 Et2 G| 3,300,000 3,300,000 0
01 AFR2telbl 3,300,000 3,300,000 0
O Z20M AMEEE 2,790,000, 000& 2,790,000
OXgzd= g8 200,000, 000& 200,000
OANRIENH 2= M= 200,000, 000& 200,000
O==xJIAF QTdEIE 110,000, 000& 110,000
Q2= 50,880 50,880 0
03 Al® =2 R=AH| 50,880 50,880 0
OAE =AY I8 19,440,000& 19,440
FAH SAIIXE 23 19,440,000& 19,440
OAlE =2 BotAY 88 12,000, 000& 12,000
S 28 NEEE 224,000 224,000 0
22| 224,000 224,000 0
A2 22|l 224,000 224,000 0
OE&IIE g2 & ANEZD 200,000,000& 200,000
OMIFY ¥ FIHEE = 24,000, 000& 24,000
EENE =8 2 = 609, 756 591,834 17,922
o124l 7,000 7,000 0
JIZtHZeNHSES 7,000 7,000 0
OdgATd BX(19) 7,000,000 7,000
22| 587,308 568, 108 19,200
01 AFR2teldl 584,308 565, 108 19,200
OHI2MN MERSE(AF/XY) 268,800, 000& 268,800
oz 40,000,000& 40,000
OFASAA =4E 133,080, 000& 133,080
OdleAdg MNEHE=E S 85, 140,000& 85, 140
OU2AIY S HEZE SAEX € EHFY
30,480, 000& 30,480
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Chetel
EEX=-IER 1= CERED
45] - RN - ZH - B (BH) - MEAY - BES Ol &F 2 e HDE2
OFQAE A&l BHH 7,000,000& 7,000
OZZ JIMM & 7¢ 3,000, 000& 3,000
OJIXa AIREE RHI(A=/XY) 5,000,000 5,000
OATd 2 HAELYR =& 11,808
ol EZAIY X AY| 6,048,000& 6,048
OHAMEY (ME/F ) S20H 5,760,000& 5,760
02 2224l 3,000 3,000 0
OZZIINM KA 3,000, 000& 3,000
202 o4 Hl 5,180 5,180 0
01 =2 LHO HI 5,180 5,180 0
ONEEE ME & FaEH 5,180,000& 5,180
01 LEBEZ 7,268 8,546 A1,278
08 A2 ERRIALLZ 7,268 8,546 A1,278
o= 4,732,700& 4,733
OZAl| 1,848,000& 1,848
Oun &t 686,400 687
405 TtHAHF S HI 3,000 3,000 0
01 MM H=SSHSHI 3,000 3,000 0
OJIXa HIERY(A=/XY) 3,000, 000& 3,000
S0H 2= 13,506,411 3,658,908 9,847,503
LSHN 28 2 3,371,800 3,367,000 4,800
201 L B2 FHl 3,355,000 3,350,200 4,800
01 AtR2teldl 3,325,000 3,325,000 0
OYSHM AMEES 2,000,000, 000& 2,000,000
OANBATEANM H&8I8 § 8 925,000,000& 925,000
OXgzZ8= g2 400,000, 000& 400,000
02 22243l 30,000 25,200 4,800
OAME AOIESTV =8 = 30,000, 000& 30,000
203 Y S =&l 16,800 16,800 0
03 AlZ =2 2| 16,800 16,800 0
OLESMHME S& ANEBEE 16,800, 000& 16,800
ga s 29 2 2 33,000 35,200 A2,200
201 £ B2 Hl 32,500 32,500 0
01 AFR2teltl 10,000 10,000 0
OZaEEAY 28 425 7¢ 10,000, 000& 10,000
02 Z=3=29g4l 22,500 22,500 0
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ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HRE2
OZ&ZHI(Z&/SE) 2 22,500, 000& 22,500
301 LB = 500 500 0
12 JIet243 500 500 0
OZHEIES A% 2kt ZHHIE 500, 000& 500
BESSAAE e 222,611 256,708 A 34,097
201 L B2l 222,611 206,708 15,903
01 AFR2teldl 2,640 3,323 A 683
ORULHAIAH X2l 220,000 x12& 2,640
02 22243l 219,971 203,385 16,586
O=32= ¥ MAl 10,100,000 «12& 121,200
OAE&H SXAHI(MI], A8 S) 24,371,000& 24,371
OgESUANE FX2el 89 6,200,000& 12& 74,400
HLYSSAAE BSSHSA 9,879,000 0 9,879,000
401 Al EHI S 20 YI 9,879,000 0 9,879,000
01 A& HI 9,745,000 0 9,745,000
OHLLESSUANLE LSS A AL
9,745,000,000& 9,745,000
02 2clbl 110,000 0 110,000
OAHLLESS AL SdESFSA 2l
110,000,000& 110,000
03 AlE 201l 24,000 0 24,000
OHLLESUALE SESSISA AIE2UH|
24,000,000& 24,000
ANEEsE 9& 235t 558,000 518,000 40,000
dEE TAEE 23 550,000 510,000 40,000
201 LEH2HH| 550,000 510,000 40,000
01 At 2telbl 550,000 510,000 40,000
OQHUWIHM AMEEER 400,000,000 400,000
OHAAENM S ANEBEE 150,000,000& 150,000
ANE &2t 8,000 8,000 0
201 L Bt29l 8,000 8,000 0
01 At 22l dl 8,000 8,000 0
OA 22t 8,000,000& 8,000
Aotz 4 - & 301,500 0 301,500
NEoE s4 - XN 301,500 0 301,500
201 L EH2H| 1,500 0 1,500
01 AFR2teldl 1,500 0 1,500
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